N & 0o &8 A &2 F A
T S04 LBHSIH A A CE
ATENYC
ERE
AXXTAA (&)
SA - BB B () - MM - BES Ol &t o San HmEET
IR AAC 3,364,379 5,601,974 A2,237,595
J| 219,296
< 5,645
s 3,139,438
Asxs 3,265,359 5,460,974 A~2,195,615
J| 219,296
< 5,645
[ia 3,040,418
AXXAH 1,072,471 1,845,771 A 773,300
J| 43,904
< 5,645
[ia 1,022,922
HsAL2S2el 229,795 250,673 220,878
101 @14l 35,095 44,473 A9,378
04 JI2ZtHZ22HEE =+ 35,095 44,473 A9,378
O MsAdsae Ex=dA o2
10,000, 000& 10,000
O MEAE=2el JI2H2 2R el 25,095
- JlZs 18,138,000& 18,138
- =¥ 3,628,000 3,628
- =g 1,047,000& 1,047
— A2 EY| 2,282,000 2,282
201 Let24d] 162,500 168,000 A 5,500
01 At 22/l 22,300 24,800 A 2,500
O st&Ea 223 5,000,000& 5,000
O gD dE MEZ 1,800,000 1,800
O Hiol 8E ME2 50,0003 = 4CH » 123 2,400
O &588 HxI & 2¥ 50,000 = 10K 500
O 22423 ¥ 472 =448 2,000,000 2,000
O MESAES 22X 2] 5,000,000& 5,000
O HegsstEsd s ¢ 5,000,000& 5,000
O MESAE=s 0128 HAES 7Y
600,000 600
02 =224l 140,200 143,200 A 3,000
O dUdsz2 & SL2sd &8Ik
4,000,000& = 123 48,000
O @ojetdzeltid =2 (23 Hs2)
500,000& = 123 6,000
O AotM2AR|HH ==+3Z 470,000& = 128 5,640
O &I TAN =22 900,000& »12& 10,800
O &I Al 150,000& = 12& 1,800
O ad=ER= 5,000,000& 5,000
O goA=H(BEIME2, dUds2)
400,000 = 12& 4,800
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2N
X ZH -
L= B

el

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
O Aot E3IH| 100,000 * 23| 200
O 29382 3,300,000& 3,300
O ¥z AR 1,000,000& * 23| 2,000
O Reds =2 360,000 360
O MsAE2e A= 12,000, 000& 12,000
O MSAIEEH || 7,000,000 7,000
O ZEHIERE HIIRS 3,000,000& 3,000
O ZHEAMSAE 2223 3,700,000 3,700
O AdUds2 AU 34089 5,000,000& 5,000
O ZEILCZE HMSAE MRS
21,600,000& =14 21,600
206 T 2 bl 10,200 10,200 0
01 =8l 10,200 10,200 0
O MEAEE8 23222 Hz 7
5,000& * 300%Z 1,500
O MEBAIES MU=SEE 27
4,000,000& 4,000
O &fzel8 <M= 2,000,000& 2,000
O MESAEE ZFEE 1Y 1,000,000 1,000
O S84 Wx=J12Y HE 2
70,0003 = 104 700
O MsA&Es &0 ¢tFI| 7Y 1,000, 000& 1,000
307 2Iz2t0l A 22,000 28,000 A 6,000
05 RIZIRI &3 22,000 28,000 A 6,000
O SSHEALE 2922 2e 2z
OlEEZE, HUAHE, EFE, E7F, &4
&) 22,000,000& 22,000
idsdy 22 29 499,956 286,092 213,864
101 1A dl 51,200 51,336 A 136
M4 IR Z22NSES 51,200 51,336 A 136
O 20H=sdH 34 22 92
1,900, 000& x2H x12& 45,600
O 4 282 5,600,000 5,600
201 L2 | 189,216 225,216 £.36,000
01 At 22l 43,640 43,640 0
O graaazrzy 3¢ 150,000& * 23 300
O &=J|, HIUdE A8E= 6,000,000 6,000
O AU RIANE 50,000& = 63l » 2& 600
O =2 22N 222 P (ZALSERH)
800,000& 800
O =g& A HAE 425 7¢
1,200, 000& 1,200
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2N A=A

HH: RS

el AEEAY CERED
- _ _ RE]

SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
401 AlEHIZL 2 0HY| 250,000 0 250,000
01 Al&H| 250,000 0 250,000

O AZXACANHYHEH DBt
250,000,000& 250,000
ALI2Z 0l2F XN (I2) 59,520 35,806 23,714
J| 41,664
= 5,357
= 12,499
307 2Iz2t0| & 59,520 35,806 23,714
Dl 41,664
= 5,357
= 12,499
02 DIZIEAAIE E X 59,520 35,806 23,714
O MEHR2H AMYAIY 59,520,000 59,520
J| 41,664
& 5,357
= 12,499
ool AZXAIEA BXZ2 I (II2) 3,200 3,200 0
J| 2,240
= 288
= 672
307 giztol A 3,200 3,200 0
J| 2,240
= 288
= 672
02 Q2B AMAIE E =X 3,200 3,200 0
O &0 AZ2X02H NIIAY
80,000& 4 1001 & 3,200
J| 2,240
= 288
= 672

AMSSHIRE 44 &3 29 250,000 250,000 0
301 et A =2 250,000 250,000 0
V=R - 2EE2SEM2 250,000 250,000 0

O HNZ2SFIL 2Y(SME)
250,000,000& 250,000

AR ZBEA 2R 10,000 0 10,000
201 Bt 10,000 0 10,000
01 AP 22| H| 5,000 0 5,000

O 2AAMIABEE Abt2AY| 5,000,000& 5,000
02 232%H4| 5,000 0 5,000
O AT 2222 S 5,000,000& 5,000

HESS D HUAYE AXZELC =4 AIAY 20,000 0 20,000

308 XX SHHSOIH 20,000 0 20,000




2N
X ZH -
L= B

el

= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
08 WSIIZ20HetE = 20,000 0 20,000
ZESsw HUAZ AXRXO £H XA
e 20,000,000& 20,000
AE AL 1,230,000 2,260,000 A 1,030,000
HEAE &5 200,000 20,000 180,000
401 AIEHIZL 2 0] 200,000 20,000 180,000
01 A& Hl 200,000 20,000 180,000
O orA2sJ17 4X 150,000, 000& 150,000
O =232 e+ 50,000,000& 50,000
HOIESE ZEAY 50,000 10,000 40,000
401 AIEHI L 2] 50,000 10,000 40,000
01 A& HI 50,000 10,000 40,000
O 8¢ “FHESE HES(10S5H)
50,000,000& 50,000
NEHALXA 360,000 0 360,000
401 Al HIZ 2018 360,000 0 360,000
01 A& HI 360,000 0 360,000
O dgddsa, dUdsa S =2AME B+
100,000, 000& 100,000
O AdUNM=s2, SE42sd s H2AAME EH
10,000, 000& 10,000
O S&2sd dze Jdl 200,000,000 200,000
O BHSAIE =FAIE E=  50,000,000& 50,000
CHetel= MSQUMMNERE HE XAY 70,000 0 70,000
401 Al HIZ 201 I 70,000 0 70,000
01 A& HI 70,000 0 70,000
O dAZH Z2e|Hs Ha 70,000,000& 70,000
NLHMSALSXNIA(BLH HOESEE L7 XA 150,000 0 150,000
d)(=2s)
401 A& HI K 201 8] 150,000 0 150,000
01 A& Bl 150,000 0 150,000
O ZEAexE dAXMCFE AXE0 WMS
AN =& 150,000, 000& 150,000
ZESOASSY 2l 100,000 0 100,000
307 21201 A 50,000 0 50,000
05 RIZtelEt = 50,000 0 50,000
O sOH=s33d 22AAE 50,000,000& 50,000
401 A& HIZ 201 I 50,000 0 50,000
01 A& HI 50,000 0 50,000
O &0t A4 HES 50,000,000& 50,000
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2N
X ZH -
L= B

el

- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
ESHMSEE 2435 200,000 1,300,000 A 1,100,000
401 AlEHIZL 201 Y| 200,000 1,300,000 A 1,100,000
01 A& H| 200,000 1,300,000 A 1,100,000
O S0 &2 HEZ2AL =&
200,000,000& 200,000
ZEOFRE A7 AX AIY 50,000 0 50,000
401 A& HI L 2 0HHI 50,000 0 50,000
01 A& HI 50,000 0 50,000
O AAEAH, &F, Mol 4 =4
50,000,000 50,000
EFR2Z L AZIAIE ZAAY 50,000 0 50,000
401 Al HI L £ 0HHI 50,000 0 50,000
01 Al& H| 50,000 0 50,000
O g8 W AZIAE ZAAMY =8
50,000,000 50,000
ATX[OIAE 962,888 1,355,203 A 392,315
J| 175,392
= 787,496
s A 94,350 94,350 0
301 et A =2 94,350 94,350 0
Vo= - S SESENZ 94,350 94,350 0
O 2= 4 X 94,350,000 94,350
ot MBI XX BHXI(D12) 116,928 111,044 5,884
J| 58,464
= 58,464
307 QI2t0| & 116,928 111,044 5,884
J| 58,464
o 58,464
02 QI2AtAMAIE E =X 116,928 111,044 5,884
O o8t MEtH XS X X
2,436,000€ * 4% « 12&€ 116,928
J| 58,464
= 58,464
H24A MEHSXESX BIXI(D]12) 204,624 202,776 1,848
J| 102,312
iy 102,312
307 QI2t0| & 204,624 202,776 1,848
J| 102,312
= 102,312
02 Q2B AMAIE E =X 204,624 202,776 1,848
O Hed MK A X
2,436,000& *~ 7 « 128 204,624
J| 102,312




2N A=A
HH: RS
R AZX0OIAE (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
| o 102,312
ZONCIMEN S KX BHXI(D12) 29,232 53,108 N23,876
J| 14,616
= 14,616
307 2Iz2to| & 29,232 53,108 N23,876
Dl 14,616
= 14,616
02 QIZHAE AAIE E X 29,232 53,108 N23,876
O Zofel M=K X
2,436,000 * 1% = 12& 29,232
J| 14,616
= 14,616
H=aA K& 368,235 460,175 A 91,940
201 et 3,960 0 3,960
01 AP 2t 2| bl 3,960 0 3,960
O AZX[f3 8% L 13 a0 HE
66,000 * 504 « 123 3,960
307 2I2t0| & 364,275 460,175 A 95,900
02 DIZHE AAIE E X 291,675 395,675 A 104,000
O dEE3 A eol=tal &It
2,142 ,000& * 70% 1,500
O d=24EH=0a HEAS 28I
3,000,000& 3,000
O MEid=s g243 X 16,200,000 16,200
O ZeAHOIEEU3 &It 3,600,000 3,600
O HsgH NEsa d¢thia ot
9,257,000 * 70% 6,480
O detgd=dM=sUs &It 140,000,000 140,000
O &= 0tetEns &It 10,471,000 = 70% 7,330
O &d2Z2AENMNE 222 sS4 EIHIH
4,000,000& 4,000
O d=2MEHsUHs™ 2t 2,565,000 2,565
O detg osadMeEdsiia &It
9,000,000& 9,000
O M= &t Mseda M=l X3
30,000,000 30,000
O XA &= MEH=UE IOIFH]
55,000,000 55,000
O detgd=ia s CM € e A
& 10,000,000 10,000
O M2t o &I =23 &It
4.,285,000& * 70% 3,000
03 QIZE X EHESHHIEX 72,600 49,500 23,100
O &=zZ2H=s3 94| 15,000,000 15,000
O &deZH=3 dMs3dE &
15,000,000 15,000
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2N
X ZH -
L= B
el

AT AR EH
Hexs
AL X0 E

= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
d2 SuMsA TSI NS 9,600 9,600 0
307 gl2tol & 9,600 9,600 0
02 It M AHE L 9,600 9,600 0
O X2 SUMENEX 2T DSXE
9,600,000 9,600
HEeEdd M HE8 NI (I XH) 156,639 0 15,639
307 21201 A 15,639 0 15,639
02 It S AMHEL 15,639 0 15,639
O MsedEd M3l HZs I (2H2)
31,278,000& * 50% 15,639
2E M=0s |31 N2 8,000 0 8,000
202 (44l 3,000 0 3,000
01 = LH o4 1l 3,000 0 3,000
O AZXMs #X0HY & dXNEH /X =&
0,000& = 2% = 25¢ 3,000
203 YR =2t 5,000 0 5,000
03 A BF=AH S =AY 5,000 0 5,000
O AEXAHE 2H AIMFAHRFAH|
5,000,000& 5,000
Bt MER S X S X BRI (RER) 13,600 0 13,600
307 glz2tol & 13,600 0 13,600
02 It M AHEE 13,600 0 13,600
O gt MeEd=sX=X HEFOHI
500,000& = 4Y = 23] 4,000
O gt MEHsIAEX &S|
200,000& = 4% = 120i & 9,600
Hzd MEMSXS X X (XA 23,800 0 23,800
307 glz2tol & 23,800 0 23,800
02 It M AHE X 23,800 0 23,800
O ozd dadsI=lt E S0
500,000& = 7H =« 23| 7,000
O ozd s &S|
200,000& = 7% = 12013 16,800
ZOHQ MEMIFXEX BRI (KEA) 3,400 0 3,400
307 21201 A 3,400 0 3,400
02 It S AHE L 3,400 0 3,400
O Zofel MEMESXNEZA EEFOH
500,000& = 1H =« 23| 1,000
O HoHe!l s &SH|
200,000 = 1% = 1201 & 2,400
=3 &2 X 3,000 0 3,000




2N A=A
M MEIE
©@e: AX=0IAE (22 &d)
SN 3H - HA(FA) - NIRAIS - HES Off &F o4 %‘Ei Husz
307 21201 & 3,000 0 3,000
02 HAHFHYANEEX 3,000 0 3,000
O ZEZHs3 428 I 2,000
— BZ50tl 500,000& »2H 23| 2,000
O HHH=ZZ 1,000
— ZE S0 500,000& » 1 »23] 1,000
HY2HIH (A=A 64,020 21,000 43,020
Jl=2gtl 64,020 21,000 43,020
23t /AZ=EHE 44,020 21,000 23,020
201 fEt2E | 29,000 9,000 20,000
01 AP 2t2ltl 24,000 9,000 15,000
O «er2gH| 20,000,000& 20,000
O =&l 4,000,000 4,000
02 2324l 5,000 0 5,000
O RER3 €8 ¢ 472 els=d §
5,000,000 5,000
202 044l 10,000 12,000 A2,000
01 SLHOYI 10,000 12,000 A2,000
O HMsAE= 22 =30 3,000,000 3,000
O AZ=EAY AR FA0UH 7,000,000 7,000
203 @2 =&l 4,520 0 4,520
02 §3 ety =4 920 0 920
O Mg FaH| 40,0002 x23% 920
04 FEN2EYRFAH| 3,600 0 3,600
O BA2EERFaHI 300,000& =128 3,600
405 TtabH S| 500 0 500
01 AL ESFH SH 500 0 500
O Jlet SsXd H=Hl 500,000& 500
Jl2Zdtl/AZ=AI&E 10,000 0 10,000
201 Lt 5,000 0 5,000
01 AFR2t2lHl 5,000 0 5,000
O AZXANELE Jl=2g 3l 5,000,000 5,000
202 o4 Hl 5,000 0 5,000
01 SLHOHI 5,000 0 5,000
O 2Z=XAEE 20| 5,000,000& 5,000
Jl2Zdtl/AZ=0HEE 10,000 0 10,000
201 224l 5,000 0 5,000
01 AF2 22l bl 5,000 0 5,000




2N A=A
M HHSAAY (AEEMAC)
©@el J12a (22 &d)
SN 3H - HA(FA) - NIRAIS - HES Off &F o4 %‘llﬁi Husz
O AXZX0DIANEE JI=2E 8-l 5,000,000& 5,000
202 044l 5,000 0 5,000
01 SLHOYI 5,000 0 5,000
O AZX[0ANEE =UHOHLI 5,000,000& 5,000
HRES(AZXAEH) 35,000 120,000 A85,000
HEAHHX = 35,000 120,000 A85,000
UWEAHAHXS(MSIEIISHES) 35,000 120,000 A 85,000
02018 E3 35,000 120,000 A 85,000
01 JI=sd&E=2 35,000 120,000 A 85,000

O 338 AZ=x2g XN& 35,000,000 35,000




